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A, BT C3 T SR & 35y ¢ g0,000, 7 40900
am ¥80,000ﬁa“%l1|33m%m1\_ww|

"ﬁm“‘“*mﬁmﬂo,osozmﬁmﬁ
B wm fha R 2

(1) < 5,000
(2) 9,000
(3) ¥ 8,000

(4) T 8,900

(5) WA

TF a1 § 40 Tt qu @ | v @ 4 fox qu Rem

T IFH IR 4 e or T fom | e @ %W
A IR 3 R man | e wdw  feen g @ T ?

(1) 28fae

(2) 2916 ferx

(3) 2634 fa

4) 27-36 fax

(5) IR T ¥ W

A B 30% s ToE & | 3 O W wW
E'; @ﬁdﬁ@mﬁMWﬂﬁ,wﬁ:A

ol 1 23R A TR
3 fa

.(2) _lﬁﬁﬁ‘

® 1nfA

4) t,sﬁél
(5) I & =

and
1. A B and C invested ¥ 80,000, T 40.000

r
% 80,000 respectively in a business. A left afte

: is
six months. If total profit after eight months

in the
¥ 40,050, then what is the share of B in

PRt CET Haryana 5 Nov
(1) ¥ 5,000 2022 2nd Shift Paper
@ 9,000

3) < 8,000

@) %8900

(5) Not attempted

A container contains 40 litres of milk. From this
container 4 litres of milk was taken out and
replaced by 4 litres of water: This process was
repeated further two times. How much milk is
left in the container ?

(1) 28 litres

(2) 29-16 litres
(3) 2634 litres
(4) 27-36 litres

(5) Not attempted

A is 30% more efficient than B. How much time

will they, working together, take to complete a
job which A alone could have done in 23 days ?

3
1) 20— da
(1) 17 ys

(2) 15days

(3) 11days

(4) 13days.

(5) Not attempted
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oeht §
4 3%vz, 6 Ay, Sﬂ'ﬁug,?;;;:“::j;ii:%r
F § T § 30%ﬁa.€§_ﬂ-ﬁ_ﬂ x
fraeft am wsft 9 ‘ |1y
1 15
(2 18
Q) 4
4) 10
(5) I 7 ¥y

A Ny FET3 x aik
(3y—x)amm’§:

Q) 1

@) 2

@ -2

@ -1

(5) I T T ey

y(x>y) LCM, 161 % |

wﬁ m=-—4 q9r n=-2 %,H\T

m3—3m2+3m+3n+3n2+n33ﬂ‘q1={@m

gix bells Commerpce tolling togéther and toll zt
intervals. of 2 4, 6, 8, 10 and 12 secon 8
respectively- In 30 minutes’ how mally times do
these six bells to]) together 2

(1 16

(2) 16

@ 4

4) 10

(6) Not attempteq

LCM of two prime numbers x and y (x > y) is 161.
The value of (3y — x) is

m 1.
2 2

3) -2
4 -1

(6) Not attempted

Ifm=-4and n=o 2, then the value of

m3—3m2+3m+3n+31i2+n3 is :

D -126

1 -126 (2 -128

(2 -128 @ -120

@ -120 @ -124

@ -124 (5) Not attempted
(6) IW & T TR

- 1 3605 - . N If 3'7118 = 0-2689, then the value of 0'00(1)3718
Y 3718 " 00003718 ' is:

(1) 26890 (1), - 26890

(2) 0-2689 (2) 0-2689

(3). 2689 (3) 2689
(4) 2:689 4 2.689
® I & wwd 5)  Not attempteq
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8. The pri 4 . s
g, wfws 3T A 6%% i o ety @ e at lmclmll that amounts t ¢ 4,91310 3 Y*%
r m . ' aTa 'a, ; 6 *4— % Per annum mmpound intereSt
s, S e, 4913 T ¢ompounded annyg]jy ;
yis:
g () = 4,085
1y < 4,085 2 = 4,096 :
(2) T 4,096 @) 73098
(8) ¥ 3,096 4) %4076
W = 4015 (6) Not attempted
(5) e AE = 9. A ' _ .
. Sum was invested at simple interest a
9. W mﬁraﬁﬁwﬁmmaﬁqq{.sﬂﬁm certain rate for 3 years, Had it been invested at
faw e o | AR W oy @), 3 T ¥ for 1% higher rate of simple interest for the same
1% i |ERY &9 @ | Ay B ma, @  time, it would have fetched ¥ 5,100 more. The
78 4R % 5,100 31T RFa wef | g v R sum is :
(1) ¥ 1,50,000 2 : (1) ¥ 1,50,000
(2) ¥ 1,70,000
(2) ¥ 1,70,000 »10,
(3) ¥ 1,20,000 @3 = 1,g0,00_0
(4) ¥ 1,25,000 (4) ¥ 1,25,000
(5) I A€ & =Ed _ _ (5) Not attempted
; ' : ight-angled triangle
10. Wmﬁﬂﬂﬁﬁwﬁmﬁ,zgﬂwﬁ 10. '.I‘helt'angthqfonemdeofanghtalllg_ :Dgll
- - 5 : is twice the le of the other side an e
s A w0 a2 w1 Jength ;
SRR T 10 [ﬁgﬁ length of hypotenuse is 10 cm. The area of the
5 R : : triangleia )
1 407 f ' 5
(1) 40cm
& sowe @ 50 cm?
3) maaf__ﬁrﬁ & G
1
4) 33§a1fﬁ:ﬁ o 33%‘: -
(5) Il o1 AR ;
s g (5) Not attempted
1. @ Eﬁ m;ﬂam p‘:[;mthI@i ¥ 1%;1: ;‘g 11. In covering a certain distance, the speeds of A
il ,ﬁ Aa; o g § and B are in the ratio 3 : 4. A takes 30 minutes
30-ﬁl=rz ) AW R & more than B to reach the destination. The time
AR 8 : ' taken by A to reach the destination is :
L 2w (1) 2hours
1 - 1 1
2) 2-®@ (2) 2= hours’
2 2
3 19 (3) Thour
@ 1-;-51% @) _1% hours
(5) I A 2 T (6) Not attempted
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the candidates. Adequal® ""*aSUres gre b | A e h A o g ag g W SR WA
- ot marngton Cancigers 0 PSB! PreTyanadobs.in”
| tres of 8

io of milk to in 80 li
g0 e B0 8 30 o et g 7 g8 11 T water
12. gﬁaﬂﬁmm(ﬁaﬁ)wmﬁ:ﬂ;:l mixturels'f:3.TheWater(in1itres)tobeadd8d

ﬁqjgﬂ{ﬂ?ﬂwmlz:lﬁm? toittomﬂketheratioofmﬂk'towaterZ:llS
a1 6 ' (@) 6 ‘ ‘ 'n
@ 8 _ @ 8
@ 4 @ 4
@) 5 4 o
13, T IR FR FwE f R, 4 0. wmR w 13. The dimensions of a rectangular floor of a room o
4:3% g A A 4A. TW W2 1% o A when increased by 4 metres become in the ratio
AT TG TR Rt w2 4:3andwhendecreasedby4metresbeoome‘in to
(1) 18 x 227, the ratio 2:1. What are the dimensions of the
@ 18%.x2470. ﬂ@r of the ronm?
' (1) 18mx22m
(3) - 127 x 8. '
- (2) 18mx24m
4) 16 x 1274, k) B
(5) I E T AE 3 ae ' W emxtn
. * I | (5) Not attempted
14 W J2 =14142%, A ’%mg': | A '
+ . ;
- |14, If V2 =1-4142, then V2 - is equal to
(1 04142 : ; JZ2+1
-+, (2 03652 ' . (1) 04142
(3 0732 ' (2) 03652
(4) 1-3142 (3) 0732
(5) IR G A1 IEd P . @ 13142

5 ; (5) Not attempted
15. aR a, b, c 1 3Gd M 1 ab + be + ca =0 &, :
a2, b2, c2 it 2 . ' 15. If the average of a, b, cis M and ab + bc + ca = 0,

: . then the average of a2, b2, ¢ is
r BM: (1 eM’
2 oM™ -
| 2 9M
@ M: 3 M
@ 3M . ’
| @ M
¢ (5) IR T T AR _

e - (5) Not attempted
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16. A

?

az e T % Tt ) gt @ |
() T T FH iy o) g € |
© W I T @ age-oEe

ot § P Y g

(a)
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18.

It shows t,he pro

Pertie ;
substances, 8 of the constituent

sl G0 & o R o wwar 2 | The constituents can be separated only by
chemical or electrochemicq] cti
2 e LR e ey 1 539 H : Choose the correct option fro AR
D HME . bilow m the codes given
@ ¥ () and (c)
(3) (a)aun(b) (2) Only (a) .
— (8) (a)and (b)
4) (a (4) (a)and (c)
(5) I TG QA =& (5) Not attempted
17. frafefes & ¥ FRwA FU S ﬁmﬁ %17, Which of the following statements is/are correct
Tl & faww § wd R4 2 * about the properties of a Colloidal Solution ?
(a) ¥R ﬁq-q-pﬁ g 2 (a) A collond is a heterogeneous mixture,
b) T Wi B v ste Rt ¥ 7 fdm (b) The solute particles settle down when
MY S ?ﬁ i zlelt::;ll: t:x}:eleﬁ undlst-u.rbed hence, colloids
(c) FIes ¥ 98 A & 5 www f fomor -(¢) Colloids are big enough to scatter a beam of
mmiﬂﬂﬂﬁﬁﬁwmil ' hghtpassmgthroughltandmakeltspath
Ha o e # " ¥ visible.
o ! . Choose the correct optmn from the codes glven
(1) (b)Ta(c) below :
(2) %39 (a) (1) (b) and (c)
(3) (a)au (b) (2) Only (a)
(4) ()T (c) (3) (a)and (b)
6) IwAd a:“ e (4) (a)and (c)
e : ' (6) Not attempted
18. 684 U fhew gl o B fhew it F g _
Bemdt ‘G'm'lﬁ'i Eﬁ T o i Reew’ B e 18. Which film won the ‘Best Film on Social Issues’
s Award in the 68t National Film Awards under
. the feature films category ?
(1) deterer (faefén 1 amw) (‘m)_ (1) Taledanda (Beheading a Life) (Kannada)
(2) IR (T4) (I) (2) Natyam (Dance) (Telugu)
(3) ween (afirer) (3) Mandela (Tamil).
4) HFa () (4) Funeral (Marathi)
(56) | I T ¥ wrgw (5) Not attempted
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IN T A Wil I “"ug" %I
e candidates. AdeauE® ’"°as“'°s 2o beinj

PR inatiof. and|da'ﬁ§ 2P6 mlan aa..,
conduct nf ** "ned $n k-

ﬁm®W@meﬁhﬁmﬁ
* 1045 % AR 61 o0, Sl R qen
3 gl & ST FA R |

et 3 e iy

() HRIHH g
LSS R R DR

(4) FTHTNHY I

(5), I T N A

20. Hmmﬁqf%ﬁmﬁ%%a‘{qsaﬁmmwﬂm
T a R 2

1) v faeeht fay
(2) TEwi AR Ty
@) nzERh

4) To g

6) I & T

21. ﬁaw%mﬁiﬁﬁqﬁﬁaﬁﬁﬁﬂrm

‘ﬂﬁmﬂat{%@aﬁo
1) &= = .
DI Ch ——
@) 3@,

@) e i s 3@
(5) mwﬁfamwga

22. @'WET‘?W#&WWWWM%?
+ (1) et

@) @

3)

@) fm

5) 3 74 31 w13

21.

) | 22.

MARA/CZ/Page 7

vel
: ‘Demographlc Transmon a concept de
19

20.

ré)F RRBROIIA,: ..

e @ﬁ@?{)’ﬂﬂf‘ﬁgﬁyanaw@@lﬂm the high stan~- -
6Mented for the safetv

d the
prank Notestein .in 1945, describe

relationship between economic devel()pment and .
J—

Loss qf lives in epidemics

Cartographic boundaries
| Social crime rate

Death and Birth rate

Not attempted

Which among the following will not be ordinarily
considered an outcome of globalization ?

(1
2)

3) Outsourcing
(4)
(5)

Foreign Direct Investment

Multilateral trade agreements

Tariff barriers

Not attempted

Which of the following industries has the

- maximum concentration in the Chhotanagpur

Plateau region ?
1)
(2)
(3)
(4)
(6)

Fertilizer Industry
Automobil\e Industry
Sugar Industry

~Iron and Stee] Industry
Not attempted

Nataraja is q bronze scul
Position associateq with

(1) Kal |
(2)  Nangj

3)  Krishna

(4)  Shiva

5)

pture in a dancing

———

Not attemspted
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23. When ; ;
A IR raised;s the builtin exception Import Error
2. Rec¥ @ﬁm@w%&@a%?ﬁﬁm'w ' |
g " - (1) 1t is raigeq B
A Rl S Wwhen a Joca] or global variable
ﬁgmmqﬁﬁqmﬁmﬁw AMe 18 not defined,
2 iq pot oy
@ o | (2) Itis ralsefj when the index or subscript ina
- ﬁ@mn‘iﬁmﬂmqiﬁnﬁﬁ I sequence is out of range,
:4) w1 FE () T fre oft e v fom wge ®) cllt ﬁi:u raised when the requested module
g efinition i
3 i (ws i o) Rl o8 o @ | (4) on 18 not found. _
- It is raised when the end of file condition is
() "I T < e reached without reading any data by
| input (). v
(@hm.) 7@ R?
(1) WmDB 24. Which of the fol,lbwing is not a Database
() m m Mgnagement System (DBMS) ?
Ao . B -
3 WESQL (1) Mongo_DB ;
(2) Microsoft Excel
W i (3 MySQL
(5) I AE A WEd (4) Oracle
_ . , (5) Not attempted
25. 3 YA NG B F FA T W W TR ‘ ,
| I T G A A 9T R R ? 25. What is the name of the Networking Topology
1) A9 dereh where each communicating device is connected to
' o acentralnode?
i, ) i (1) Mesh Topology
(3) =® Aararsit (2) Star Topology -
(4) far Qv " (3) Bus Topology
(5) 9 T &1 R (4) - Toeg Topoliny
; . (5) Not attempted
26, Pt it & Fa v A%s0 0 1 IqE .
39 26. Which of the following is mot an example of
: secondary memory ? -
@ FwE (1) Memory Card
@ s e it (2) Read only memory
@ wd e g (WA (3 Hard Disk Drive (HDD)
4) @& (4 CDROM
(5) Il a:na"ga . (6) Not attempted
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thelr oW arm e

- 30.

~(5)

aﬁmﬂﬂaﬂﬁagswhaﬁmmaﬁﬂ

g1. @
'ﬂa@zmﬁ,ﬁﬁ%ﬁﬂﬁﬁmw%aﬁﬁ

gl & 7

(1) W“’mmﬂ 2019

@) Fu T T

®) i T fufam, 1947 #1 e
(4 T I

(5) I T & TR

m%ﬁr&mﬁaﬁmw%ﬁnﬁf@aﬁﬁ
rauea A faa?

1) wad. ges

@ #IwE

3) AT TEE

4) ®IW AT

(5) IR 7@ o e

o T I TR WA ug W I forad %
R .

(1) wiom-fmm :
(2)_30['.355{[

@ s

4) JOOEITE
(5) I T &A1 e

(1) Wﬁﬁ’wm%mmm
ayrivT gr @ T A @ |
S— R R R R
RWHEIW

fsin qagranatt & fag fady e g7
ﬁmﬁzﬁmﬁgaﬁwﬂﬁ%m
gfrgr A

o 78 3 T

2)

3)
4)

Join Telegram (‘roup #hanz
21 ‘:lﬂ the aﬁjnabls (fhst) Article of the

30.

@

. @
(5)

Lonov=-

1ates the provision related to WhiC ch of the
followlﬂg '
Q) Cltlzenshxp Amendment Act, 2019
@ Formatlon of New States
3) Repeal of the Indian [ndependence Act,
. 1947 . ¥
4) Proclamation of Emergency
(5) Not attempted |
A tryst with destiny, is a famous speeph_
endence made by

{llustrative of India’s indep
which of the following members
Constituent Assembly of India ?

(1) SP. Mukherjee

vJ.Patel

J.L. Nehru

" B.R. Ambedkar

Not attempted

of the

(3)

The study of writings engraved on hard surfaces

such as stone or metal is called
(1 . '
(2)
(3)
4)
(5)

Iconogt_‘aphy
Typography
Calligraphy
Epigraphy
Not attempted

‘Matdata Junction’ refers to :

(1) radio series produced by Election
Commission of India for voter aw areness.

(2) name of a new railway station to raise voter

awareness. :

special polling booth for Divyang voters.

training programme for officials to handle

postal ballot.

(3)
(4)

IJoin Telegram Group "HgjyaNelPREtémpted
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35. ‘:gm’%‘fm sy
5 30 % oy e @ PO €7 ' ST e 7 €
prefafad 1) fm
(2) oy
) T
4) - ‘
(5) I 7 & T
g2, T e 1 R B Rifefem v 3 & o a9 (36, ‘g’ g % Ry e g A ¢
m;ﬁ = 1) P v 5 9 @ P 2
(1 3 T, A g e 3 T '
@ IR T | . (2) m%mﬁ‘@
(3) T AR R T @ d o & @) wHa & o & W
@) fgmm%%ﬁmmgsﬁ;'w @) T % o N W
| . ‘
(5) I T M TR ? Wqﬁmﬁ
| . 87. ‘oY Gwed 93 1 fmg @M — ‘et # 3 |
33. ‘il Rgoe v, Iaf utq <, e T gy T 1 FE T R 2
fedt 7r s ), e gow R 7 o ,
vl i o S S 2 () IR e
(2) wifewm (3) =Y T[N
(3 W (4) R TN
@) & (5) I E &M =w
(5) I T TN T
- 38. o A R I sy TR T T R |
34, foumu frm w=g & 3vet & Em gen R 2 1 fafeg
1) @& @ Mew
@) S @ s
(@; =R (4) s
(4) ¥IER .
(5) W T N TR
(5) I HE & e 1
MARA/C2/Page 10 I F & fore T | SPACE FOR ROUGH WORK
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¥ foe
a;ﬁ;ﬁﬂl'ﬂ
p it ? o Wﬂaﬂfﬁmmﬁﬁhﬂaﬁﬁm'
(1) T B I
(@) I
‘(4) forgam : 3) ands
(5) I TE A AR 0
g0, P § & Frw S = s ge i b 2 (5) IR T A
1) e R FE TR = Fraw '
) tw'*imiiwﬁms-mmaﬁw

AT

@ S A wR o = g R gy e e e ¥ for P 3 e o T

_ﬁiﬂﬂhﬂtﬁ‘mﬁam% s TR ?
(4) mﬂagﬁm_m-{ﬂmﬁqﬁiﬁm

(5) FoAE N A ' 6)) ﬁa?ﬁtﬁaﬁtqﬁrati

-' (@ wEATEREL
| 41 e A S w I A & R

1 Gy 7@ IR e @ ? E)) frq oeh #f I EH RE?
@ fadgEEs T A @ w%wﬁw_m;awai
@) o | (5) I A 0 R

(3) TN ; .

(4) SROTHEYS

(5) W TE &1 =TEd

s Prerien 2 e e o R T R
1. Frefufea § @ swa fwes aQE T F IR

2 | | ) wfeEu

:T ara “ . B (2) e &

— o 3 @& @i

6) :: | - , I,

Z:; e 7 3 e | (5) I AE & A&
MARA/C2/Page 11 @ & forg | SPACE FOR ROUGH WORK
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Read the following passage carefully and ansy,,

46. Rearrange the following parts of a sentence
labelled as PQRS to. ma_ke a meanmgful questions 49, 50 and 51.
sentence. Tiger is one of the key wildlife species in the faup,
P. leave no regret are web. In 1973, the authorities realised that the tige,
Q.  gained over 'i'gnorance [population had dwindled very fast. The major threaty
: L T to tiger population are numerous such as poachmg for
R. the only victories which Gade Ahd lcinghabitst, d epl etion of prey base specieg
8. those which are etc. The trade of tlger' skins and the use of their bones
1) PQSR in traditional medicines left the tiger. pOPUIatmn on the
(2) QRSP verge of extinction. Since India and Neli“’% prm.nde
: habitat to about two-thirds of the surviving tiger
s population in’ the world, these two nations became
4) RPSQ prime targets for poaching and illegal trading. “Project
(5) Not attempted Tiger”, one of the well-publicised wildlife campaigns in
. the world, was launched in 1973. In India, Tiger
47; Cﬁoose the alternative which best expresses the co_nsérvation has been viewed not only.as an Rt 1
' given sentence in Active Voice. |save the endangered species but also as a means of
. preserving biotype of sizeable magnitude.
It is being read by us. _ _
(1) We can read it. 49, Find out a word from the above passage which is
(2) We have to read it. the antonym of legal"
(1) illegal
(3) We are reading it. @) threat
(4) It will be read by us. (3) - extinction
(5) Not attempted (4) faunal
¥ (56) Not attempted -
48. Read the sentence to find out whether there is|50, The skin and bones of tiger are also used
any grammatical mistake in it. o : : _
Mark the number of the part with error as your (1) to save tiger from extinction
answer. If there is ‘no error’ mark 4). (2) in preparatmn of food products
' (3) asraw matena] in small factories -
The scientist was seemed to be excited @ i boaditiinal msdicines ;
. A - ' B (5) Not attempfed '
_ over the result of his experiment. _
c 51. The major threat to tiger populations is
(1) B (1) Poaching for trade
@ A (2) Industrialization
3 C (3 Lack of Tiger Reserves
(4) No error (4) No Government policy
(5). Not attempted (5) Not attempted o
MARA/C2/Page 12 " T @ % f7Y T / SPACE FOR ROUGH WORK
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55. Fill in the blank with the most appropriate :

maz?duct o;nt:a examination. C;
rownand

b of the phrases given below should replace
i phl.aﬁ,e-underlinetl in the following sentence
o make it _grammatically correct ?

“She showed courage in advocating policies which
were not cOMIOD acceptability then.”

1) common in acceptability than

) commonly acceptable then

@) ~ commonly accepted then

(4) then common acceptability *

(5) Not attemﬁt&d

Choose the most appropriate preposition to fill in
the blank. _

Visitors in the garden are pro
walking on the grass.

(1) for '

@ to

@
(4)
(5)

ibited

from
with
Not attempted

Which one is the correct indirect narration of the
following sentence ? : :

. He said, “Two and three is five’ _
(1) He said that two and three was five.

" (2) He said that two and three were five.

(3) He said that two and three are five.
(4) He said that two and three is five.
(5) Not attempted

option given below.

He was advised the seminar without

HIeS gora
Nlictas. bﬁmsﬁéfwmup "HaryanadJobs.in".

56. -

|
.

¢

57.

- @
- (5)

59.

ges the
Choose the alternative which bes® expre®

peaning of the underlined idio™-
Hehad 8 hair-breadth escape fro™ the
fighting

jmpractical

accideﬂt-

oY

2
very safe

narrow
" Not attempted

4)
),

Life history of a man written by: himself i8 called

sl
(1) Calligraphy
(2) Bibliography
(3) ' Biography

_Auboi:iography
Not attempted

Select the word that is most similar in meaning

. to the given word.

Prosaic

| Cunning
Patriotic
Uninspiring
Poetic

Not attempted |

(1

(2),
@3
4y
(5)
Find out the correctly spelt word.
(1)
(2)
(3)
(4)
(5)

thesaurus
thesoraus

: thasahrus
thisaurus

Not attempted

preparation. 60. Find out the correctly spelt word.
(1) not to attended (1) prettentiousness "
(2) tonot to attend (2) pretantiosness
(3) not to attend (3) pretantiousness
(4) tonot gttet_xd (4) pretentiousness
R (5) Not attempted (5) Not attempted
MARA/C2/Page 13
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61, whamm # T M TEYH N i #1|61. When ‘was the State Council of Edul:atiulla

T G " Research and Training established in Haryang
(1) 1960 1) 1960
@ 1965 . (2) 1965
@) 1979 (3) 1979
4) 1970 (4) 1970
() w3 e (. Motattemptad
- i ; iqr is situated in whict
bbbl L LU ety |
Gl SN ' (1) Yamunanagar
2) wiigEr | (2) Faridabad .
3) lz® S " (3) Rohtak
(4) g o (4) Panipat
®) SR A < SR ‘ (5) - Not attempted .
63. PN 1 T 0g HAA R ? 63. Which is the state animal of Haryana ?
(1) =™ (1) Tiger ' o
(2 e (2) Horse
(3 @ _ (3) Elephant
(9 e e i (4) Black Buck
(5) I TE &1 AEd (5) Not attempted

64. form et = _El[ L & @ F W { T ST 64. Which fort is known as the GatewayofHaryana?

&2 ' o | " Kanod Fort
(1) AR = e (2)° Maham Fort
(2) wEn e " (3) Gohana Fort
(@) e " 4 (4) Bahadurgarh Fort
(4) SEIGUIG Hl foen _ . ; (5) Not attempted
(5) I TEl A 9w
| : ' 65. Haryana is located around 300 miles North of the
65. wfamm % wmw 300 i S A R R | | _ |
(1) ol (1) Greenwich line
T (@ yEwE - (2 Equator
@) Fh @l ; (3) Tropic of Cancer
(4) TR ' - © (4) Tropic of Capricorn
(5) I A A ma | (5) Not attempted C
', MARAC2/Page 14 T% @1 % fRT0 T / SPACE FOR ROUGH WORK -
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Rule
) . . Home
g6, A 3 €W T Mo ¥ w7 5T IR g6. The credlt.' for propagating th®
o R S Movement in Haryana goes o'
S T i . 1) Ram Kishore
o ISIRASIRE ' @) Thakur Ram Singh
&) e @ Lala Murlidhar
- 33( & 4) Pt. Nekiram Sharma
® e (5) Not attempted
. . ahal
61 Feicis ;; o8 eftamon &1 v HES el AT R ? g7. Which of the following is known a8 the Taj M
(1) IE & = www of Haryana ?
2) o g+ 7w | (1) - Sheikh Chilli’s Tomb
(3) o v @) Ibrahim Suri’s Tomb
(4) A "gd (3) Sheesh Mahal
(5) IR T T =R (4) Jal Mahal
‘ (5) Not attempted
¢8. P=fafgn # A vy O I ¥ &1 o gt g , .
Tt e S 2 68. Which among the following folk.dance forms 18
1 =& : not performed by men ?
(2) < ' gi g:mm _
| @ @ > aupaiyan
' oor
4) =% . :
® NN : (4)  Daph
® (5) Notattempted

| 69. uieq e 5 1 S wan & fFefefea § @ 69. Pt. Lakhmi Chand was born in which of the

wia & g1 ? 0/ following village of Haryana ?
(1) vdiden (1) Jantikalan
(2 @@ (2) Sihi
(3) =@y (3) Mokhra
4) =t (4) Nahri
(5) I T &1 =ER | (6) Not attempted
70. et § @ qun gedhra oW g aaTe g ardhrg | 70- The fort of Asigarh situated in Hansi was built by
¥ ot 71 Fafor form &) & g 2 ) Prithviraj Chauhan in which century ?
1) 14 v : (1) 14" century
@ 17di 5@ _ (2) 17" century
(3) . 12 & . 3) 12 century
4) 1541 @@ (4) 15 century
_ (B) I ¢ R (5)  Not attempted
MARA/C2/Page 15 T Fd & 10 wur 1 SPACE FOR ROUGH WORK
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71.

72.

73.

74.

75.

Join Telegram Group "HaryanaJobs.in"
‘Which district in Haryana ha

e 3 o 0 5 e < o 2 2
(1) v=Hal
@) FHad
(3) UgaH

(4) TEA™
(5) I AE AT =TEQ

31 feww, 2017%%6&&mﬁmaﬁw§BBY
T 1 foega T FT R 2

(1) WIEa WS AT

(2 v e dre

(3)  wTTErE E e

@) et sl ae

- (5) I AE T 9E

R & frg o yeaw oW o (DBT) oA
YT §3AT ? : :

2014

2015

2011
2013 -

e 7 21 R

(1)
(2
3)
4)
(5)

afen & §f =ifs Richt 1 @ud 9§ 2020 — 21 T ,;4.

g Tl 81 7 & 2
(1) 1200-457f
(2) 1540-45 (4
(3) 1000 gfe

(4) 180545 qfAe
(5) I & & =R

ghamn 759 s & facia o 2022 - 23 § $o1 e
&1 e wfowra gftre & & = %:fﬁq;ﬁnﬁﬁa Rt
TR ?

(1) 62%

@ 21%

(3) 46%

4) 43% |
(5) I &l AT =R

Join Telegram Group

AMADAINDIDana 18

71.

72.

73.

75.

- (2)

LD

(6

" (2)

s the highey

iiteracy rate ?

(1) Panchkula

(2) Kaithal

(3) Rohtak

(4) Gurugram

(5)° Not attempted

What is the qu form of BBY scl;eme launc]:}ed on
December 31, 2017 in Haryana *

(1) Bhavantar Bharpayee Yojana

(2) Bharatiya Bima Yojana

(3)

(4)
(5)

Bagwani Bima Yojana
- Bijali Bachao Yojana
Not attempted

In which year was the Direct Benefit Transfer

(DBT) Scheme launched in Haryana ?
(1) 2014

2015

2011,

2013

Not attempted

3)
4)
(5)

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?
1200-45 units |

154045 units

1000 units

180545 units

Not attempted |

(2)
(€))
4)

What is thg- percentage of total expenditur
allocated towards Police in Haryana Stat
Budget for the financial year 2022 — 23 2

1) 62%
21%
46%
43%

3)
(4)

"Harya3J oot attempted
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78.

" (4)

—Jein ?&éﬁ%ﬁf’@ap "Harf/'a"ﬁaJobs.in"

e F M AR gy
TR R |

(1) o ER g

)
(3)
(4)

W‘Hﬁﬂw

e N

@

(5)

SR T & wma

76.

7.

o | T8

79.

“field of

-

80.

’ est
Shori. Bazar iy, Rohtak is Haw@as larg
Market,

Auto Spare Parts
Wood

Cloth,
Grain

(1)
(2)
3
(4)
(6) Not attempteq

Who is the first Wrestler to win a Gold Medal in
Commonwealth Games in 1958 2

(1) Master Chandgi Ram
(2) Lila Ram Sangwa_n
®  Sajjan Singh

(4)  Pahalwap Udaychand
(6) Not attempted

Which

Science and Engineeri_ng ?
- Moti Lal Madan

Raghuvendra Tanwar
Sumit Anti]

Om Prakash Gangh;.
Not attempteq

1)
(2)
(3)
(4)-

(1)
(2)
3)
4)

Science

Social Work
Literature

Sports _
Not attempteq -
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Who was the fi : i
gl. 1913 # T = Jrery § ;q_m‘ﬂﬂ . T8t Indian to be appointed as the
t p
i i T T e 3 %‘é L] 1;813 ?hlef Justice of the Punjab High Court i
(- e R (65 Gopal Singh \
(2) e & . (2)  Alok Singh
(3) w BT 6)) Sir Chhotu Ram
@) @ oevfR ' (4) Dr. Sarup Singh
(5) IR TE & EY | (6) Not attempted
o T % T R ' o1 ? 82. When was the first Haryana State Finance
82, gf@mm TN & 7157 F4 § Commission formed ?
(1) 26 3%, 1994 (1) 26h April, 1994
(2) 15 W, 1994 (2) 15 October, 1994
@) 2“5; 1994 (3) 2" June, 1994
4) 317, 1994 ‘
: (4) 31% May, 1994
(5) I TEI T =TS .

_ (5) Not attempted
e :
- wF. M B T ) R @ e A 83. M.K. Gandhi was arrested on which date from

firn T, 9w T we w1y w0 W Palwal railway station while going to Punjab to
q? , . protest against the Rowlatt Act ?
(1) - 10 313, 1919 | | @ 10t April, 1919
@) 10, 1518 - | @ 10 April, 1918
& 1050w, 1915 : 3) 10% April, 1915
(4) 10 ¥, 1917 , : B @ 10% April, 1917
- (5) I @l 1 AR . _ _ :
; = (5) Not attempted i o ]
84. sfEmn & fet MG 1 WA AW RR 2 ‘
(1) W ' 84. What is the ancient name of district
Hﬁ?ﬂtﬁf Mahendragarh in Haryana ?
@ - ' (1) Kanoud
¥ | (2 Sat o
@ — & Begital
(5) IR A | _
. _a:" - : (4) Sairishaka
85. mﬁwm%mmamm‘ Bl Notaitempted
it & ? 85. The Shivalik Hills are not found in which dmtnﬂt
(1) W of Haryana ?
(2 fawmn (1) Yamunanagar
(3) guHeN |  (2) (Sirsa
(4) =T : (3) Panchkula
(5) I G | (4) Ambala
____\___ ; ted .
MARA/C2/Page 18 T4 % fog (6) Not attemp _ E
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g6, T P F A

Bic)
Mﬁmmmmﬁwﬁqmﬁ R o

A 5 TS o

FT ;

(1) mln%g

(2)
3)

(4) %manﬁmam%
B) I T .=y

87. swﬁmﬁ‘a’wwnw%?

1 x
2 -
3) +

(5)  IW F& 3 9=

W ury
¥ B e

4) = .

B TR ok
e e

P,Q R, S, T =fis s m | PRI, fhg @

P& o TR RSEFTEARA Pwowmd

%.

817.

88.

Join Telegram Group "HaryanaJobs.in"

if they seem to pe at variance from the commonly

Decide whijch of the given

conclusiong logically follow(s) from the given
statementg, '

Statements : Some apples are grapes.

All grapes are bananas,
Some plums are grapes.
Conclugiong - 09}
(I
(I11)
Only 171 follows
(2)  Only I anq g follow
\(3) Only I and 11 follow
(4) Only I1 follows
(5) Not attempted

Some bananag are plums,

Some apples are bananas.

All bananas are grapes.-
(1) '

What is the value of ‘e’ in this pattern 2

XaL =2
PaH=2 -
LaF=9

D x

@ -

3 «+

4) = :

(5). Not attempted

P, Q; R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of P’. ‘R’ is the son of ‘S’

73“

T, SHh Wwho is the brother of P, “T” is the wife of ‘S
‘P’ &1 ‘R’ Y F1 day R ? How is ‘P’ related to ‘R’ ?
(1) Sr=n (1) Uncle
2) faan (2) Father
(3) wdn (8) Nephew
(4) v (4)  Brother
(5) 3T & (5) Not attempted
-l:ll_ARA/CZIPage 19
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i8 gten
89 farelt w R F¢ AW A XYZA kil 1234 3t EFGH (89, In a certain code language XYZ'A GE Wi
" 7g910 F ¥ F Rran T R, @t o g WA 1234 and EFGH as 78910. How **
AXGE ! & ' in that code language ?
(1) 4917 (1) 4917
(o) 4217 (2) 4217
(3) 4197 (3) 4197
(4) 4179- (4) 4179
5) IeR TE AT = - (5) Not attempted - 51 wel:;t
- jvea,
- L_g 90, Three friends Amita, Babit? all:id was T 2
g0, = wrferl sl et st ww wrd A | gy TP the i paid 2P
ﬁaﬁmﬁiaﬁmimman{uﬁim Amtapﬂl.dgasmut:has . i
5 L
3ﬁmshﬁzﬂa1ﬁmman§nﬁ1w 1 Ra i chanchal ai
@ w3  Babita paid. - ‘a0 suock £% . amount Pa!
qﬁm? -l mﬁa wﬁETT kL bill paid is T 360 then what is th
_ s :
ki by Babita ? =
e (1) ¥ 200
(2) T 60 @ < 60
(3) T 180 @) %180
(5) IR TE A AR (5) Not attempted
; formed by
91 ﬁmmm%aﬁwﬁnmmwmm 91. Find out the word which cannot be : ,
‘ qre vIee Fr wra Hife : _ using the letters of t.he given word :
VERIFIED VERIFIED
- (1) FRIED (1) FRIED
@ FRIEND (2) FRIEND
(3) DEFER (3) DEFER
(4) DRIVE (4) ‘DRIVE
(5) 'R AE &M 313% (5) Not attempted
92, frdft & FZ WW # DFGHJ ¥@ FHIJL ¥ =g #(92. In a certain code language DFGHJ is written as '.
: o feii .:n:n e s i AUDITaﬁ frE TR FHIJ_L. How is AUDIT written in that code
@ s ? language ?
(1) CWFIU (1) CWFIU
(2) CWPJV (2) CWPJV
(3) CWEJV (8) CWEJV
(4) CWFKV 4) - CWFKV
(5) I A€ & WEd (5) Not attempted : . )
'MARA/C2/Page 20 1% T4 % fary TuT | SPACE FOR ROUGH WORK \
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g3, U® WG EDI oY - 9 P y

| the
aferd R Sy ‘&::: %qﬁm% TR A H 93 Select the combination of numbers SO that

a
I 'L oy WISg |91 1 letters arranged accordingly will form

12 g 0O g M meaningful word :

1) 3,4, 6,2, 1,5 ‘s 6
(2) 6,4,3,2,5 4
@) 3,4,5,6,2 1
(4) 6,4,3,1, 2,5

(5) I T M Wy

1 L B O E M
1 2 8 4 5 .6
(1) 3,4,6,2,1,5
(2) 6,4,8,2,5,1
(3 3,4,5,6,21
4 6,4,3,1,2,5

. (5) m
ol Bk ﬁ'@ﬁaqgﬁq_m%? Not attempted

(1) &= wEmmR
(2) W g

NE L SR RC S
4) W HETETR
(6) IR T T =R

Find the odd one out. .
(1) Indian Ocean

(2) Arabian Sea
.(3) Bay of Bengal
(4) Pacific Ocean

(6) Not attempted -

Choose the correct option in which the words are

related in the same way as in the given pair of
words :

Singer : Chorus

@) ga _ (1) Artist— Pa.a.int

: (2) Robbers — Loot
(3) Y= — TeigE :
(4) wflas — T

(8) Flowers — Bouquet )

- (4) Musicians - Song - )
(5) I AL &A1 =Ed

(5) Not attempted .

96. ¥ T fea T A HfC S A Ry T F waw |96

. Choose the correct option, which is related as
: ' given :

o I L 11:120::25:?

_ 11:120::26:? (1) .
@ 28 | (2) 624
— ‘ : (3) 250
ol o = @ 125
(4) 125 _ '

; (5) Not attempted
(5) I AEl & =Ed
MARA/C2/Page 21 1% T4 & foTg ¥4 | SPACE FOR ROUGH WORK
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M { ¢ A) . .
97 - et % . m i A El hB, C,D,E al?d F are sitting in @ circle facing
ﬁi , B % M - . a1 H the centre. ‘D ig on the ; ate right of B’
q /Y ﬁa,—dw ) | and B’ is not th . ) mmedia o
3ﬂ'( B ’ <l qg}{ﬂ q'g’f % | ‘C’ A’ 3-ﬂ-( ‘D ) : € Immediate neighbour of ‘F.«¢
il P TN Sy o ’ r };":EtWeen A’ and ‘D’. Who are the neighbours of
(1 ASRB () AandB
2 C¥RD @ CandD
(3 B3MD (3 BandD
4) ASME 4) AandE
(5) I AL T =" (5) Not attempted
98. INTH T FAEYA W U T qfs 1 47 39 T |98, All the hard work done by you at your Workpl.ace
e, St I = i o R aw AL is hijacked by one of your colleagues; who is a
1 A ? ' good friend of yours. You will :
(1) oRem 1 T @, T4y qhem & RO (1) continue hard work as hard work always
T =BT R R | . pays. i
(2) IR FE @I v FQ T | (2) start praising about your work yourself.
' . (3). leave the job.
(3) A= BT | ,
@) o= e ¥ g 3E) srarE w | (4) criticise him 1;1 front of other colleagues.
(5) Not attempte :
(5) I TE & 9w
. ! 99. Find the value of p in the series :
99. 3@ e H p F AH Fa KT : J11 11
2, Lp, s e '3’79° " 81" 243
39 81 243 1
1 =
n = 29
29 . ]
(2) —
(2) 515 39
1
3) —
3 % @) 27
1
1 4) —
(4) o1 ) 21
100, $3 v M fawedl § d g@ @en F T Hifg|100. Choose the missing number from the given
frad gE qEen 0 & T options that will complete the number series :
55, 56, 58, 61, 65, _ 55, 56, 58, 61, 65, __
‘a n 1 7N
@2 72 (2) 172
3) 170 3) 170
4) 69 - 4) 69
(5) I AL & €A (5) Not attempted
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